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(2) 749
Consider the goods market equilibrium ¢gndition in

a closed economy. S + TA — TR = | + G. ( Notations

have their standard meaning:). Use this equation to.

explain why, in the classical case a fiscal expansion
must lead to full crowding out. Explain using the same
equation, what happens to the ‘economy when there
is less than full employment (In both cases assume

that there is no monetary accommodation).

Discuss the role of the parameters h (interest

sensitivity of money demanc), b (interest sensitivity

of investment), k (income sensitivity of money
demand) in the transmission mechanism, linking an
increase in government spending to tﬁe resulting
change in income, using the expression of the fiscal
policy multiplier in the 1S-LM model. 3+4Y
Consider two alternative contractionary economic
policies. One is the removal of an investmen:
subsidy : the other is a rise n income tax rates. Use
the normal IS-LM schedules to discuss the impact
of these alternative policies on income, in.terest rates

and investment.
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(3) 749
Distinguish between strict quantity theory of money
and monetarism, What type of statistical evidence
would you need to collect in order to support or refute

the mitjor argument of monetarism. 4+3'%

Suppose the govergment undertakes a balanced budget

increase in spundivg. Government spending rises from G

; L] . - 3 .
to G’, and there is an accompanying increase in lax rates

so that at the mitial level of output the budget remains

balanced.
1

() Show the ct'!'éct on the AD schedule.

(i)  Discuss lhe‘;f"fect-of the balanced budget policy on
output and prices in the Kcynesiz;n case.

(iii) Discuss 'li.\cl effect on output and prices in the
classical case.

(!v) Ati‘é;\'él part {ii when there i§ only an increase in the

(1)

tax rate with unchanged: G. 2424241%
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(6) b 749

Using the AD - AS and IS - LM diagram, show what
happens to output, price evel, interest rate and

investment in the short rur and medium run.

What happens to the unempioyment rate in the short
run and in the medium rur ? 6+1%
How does an individual get rid of the ‘signal
extraction’ ﬁroblem ?  What is the effect of this
problem on the labor supp y Ccrve'?_‘
What are the properties of rational expecfﬁtions ?
34
Upder what circumstances, aceording to the Keynesian
IS-LM model. changes in goverment expenditure
would not be necessary to offset fluctuations in
private spending. Why, acccrding to the Keynesians,
this is an unlikely scenaric ?
Explain why the model inccnsistency problem exists
in" adaptive expectations. 4+3%
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Suppose the Okun’s law for country X is given by :
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(ify What yearly rate of growth of output do we ncled
if we want to d};:crcnsc unemployment by two
percentage points over the next four years ?

(iif) Suppdée that the (ouml"_v 'cx'pe'riences a second baby
boom. How do you cxpéct Okun’s law to change if
the rate of growth ut'r the labor force increases by
two percentage points ?:‘ Explain. 3H2Yat2

Suppose the Phillips curve is giveh byn, = =" + 0.1 -2u,

where n,° = 6m, | . Assumq 0. is equal to zero. Suppose

that the rate of unemploym'cr‘\l"is initially equal to the natural
rate. In year 7 the authorities decide to bring the unem-
ployment rate down u; % ;and hold it forever,

() What is the nat‘uml }tnlc‘;)t' unemployment 7

(ify Determine the rate of mflation in years ¢, (+1, 142,

(i) Is ‘the assumption 0 = 0 justified ? Explain. Answer
the same - for 0. = |, 2442Vt 2'%

Suppose that the Pi“li”ips curvi; is given by

n, - ®' = -, - 5%) and the expected inflation is

given by n‘ = rr!_l.

() What is the sacrifice rutio of the economy 7

Suppose that unemployment is initially equal to the

natural rate and 7 -~ 12%. The central bank decides

]
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(a)

(9) 749
thar 12% inflation is too high and that starting in
year f, it will maintain the unemployment lrate one
percentage point above the naturral rate of unemploy-

ment until the ‘inflation rate is decreased jo 2%.

(i) Compute the rate of inflation for years 1, [(+1, 42,

|
(iii) For how many years must the central bank keep
the unemployment rate above the natur!ll rate of

unemployment ? Is the implied sacrifice ratio consist-

ent with your answer to (7).

(iv) What advice shou‘Ed you give to a central bank if

it wants to achieve the same results qujckly ?
143+2+1Y2
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( C l)li.‘-f(‘lt.'I"I!Il_ vconomy characterised by fixed-exchange
rate, Hlexible domestic price level and fixed foreign
price level. Suppose the economy was initially at full
employment and trade balance. However, a fall in
exports resulted in unemployment and trade deficit.
l-'siu,- the {\D-AS framework explain how the
0

problems ¢an be overcome automatically.
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(/)  What is the shortcoming of this process ?

(itiy What is the impact of an open market purchase of ;

bonds on the adjustment process ? 4+1'4t2

‘A nation loses com-rul over money supply under
fixed exchange rate regime w.it-h perfect capital mobility
(at constant prices), thus making monetary policy
completely ineffective in changing output. However
fiscal policy is fully etlt'w:luc in this case’. Do you agree ?
Explain. b
(1 How does domestic num.m.‘ supply vis-a-vis the foreign
money supply detcrnine the exchange rate in the
monetary approq.h o exchange rate determination ?

(i) How does a BOP ‘Icl;wii arise according to the
Monetary Approach und& a fixed exchange rate
regime ? 4Y5+3
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() Explain the difference between absolute frid
relative PPP. Discuss why relutive PPP tends to
predict undervalued exchange rate for developing

councries.

(i) Discuss the J curve, 4+3%

Assuming uncovered interest parity cor dition and expected

.

appreciation of foreign currency to be zzro mitially, explain
why the exchange rate é)vershm;ts its long cun equilibrium
in response to an unexpected inerease in domestic money
supply. 7%
(/) Briefly explain how foreign exchange risk leads to an
opportunity of hedging and speculation.
Find the Covered Interest Arbitrage Margin (CIAM)
when the annual rate of interest in the US and
India are 8% and 6% respectively. The spot
rate is Re. 1/$1 and the one year forward rate is
Rs. 0.96/ §1. Explain the relevarce of the sign and
the absolute value of CIAM. {India : home country,
US © foreign country) 4+3%
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